



Hyperbolic sine function in Hilbert's discrete inequality of three variables

Nizar Kh. Al-Oushoush¹, Rateb Al-Btoush², M.Abu Saleem³, L.E. AZAR⁴, M. Mursaleen⁵

^{1,3}Department of Mathematics, Faculty of Science, Al-Balqa Applied University, P.O.Box 19117, Salt, Jordan; ²Department of Mathematics, Faculty of Science, Mutah University; ⁴Department of Mathematics, Faculty of Science, Al al-Bayt University; ⁵China Medical University (Taiwan).

Through this manuscript, we deduce a new discrete form of Hilbert's inequality of three variables of Hyperbolic Sine Function, also, we will show that the constant in the main inequality is the best constant. Also, we will give the reverse form of the main inequality and the equivalent forms of it.

Key words and phrases: Hilbert's inequality of discrete form, Hölder inequality, Best constant, Hyperbolic Sine Function.

Mathematics Subject Classification (2020): 26D15.

1. Introduction

If $\{a_m\}$ and $\{b_n\}$ are real sequences, satisfying $\sum_{m=1}^{\infty} a_m \in (0, \infty)$ and $\sum_{n=1}^{\infty} b_n \in (0, \infty)$, for $p > 1, \frac{1}{p} + \frac{1}{q}$, then we have the famous inequality

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{a_m b_n}{m+n} < \frac{\pi}{\sin\left(\frac{\pi}{p}\right)} \left(\sum_{m=1}^{\infty} a_m^p \right)^{\frac{1}{p}} \left(\sum_{n=1}^{\infty} b_n^q \right)^{\frac{1}{q}}, \quad (1)$$

where the constant factor $\frac{\pi}{\sin\left(\frac{\pi}{p}\right)}$ is the best possible, and the constant in (1) will be π in case $p = q = 2$. The inequality (1) is the discrete analogue of Hilbert's inequality of two variables. The historical and prehistorical origins of the Hardy inequality were studied in [1, 2].

Email addresses: aloushoush@bau.edu.jo (Nizar Kh. Al-Oushoush); btoush@mutah.edu.jo (Rateb Al-Btoush); m_abusaleem@bau.edu.jo (M.Abu Saleem); azar1@aabu.edu.jo (L.E. AZAR); mursaleenm@gmail.com (M. Mursaleen)

In the last two decades, the inequality (1) and the integral form of it, have many extensions and equivalent forms in many different ways, see [3–11, 13].

Quite number of authors established a various formulation of improvements and extensions of (1) in integral, discrete, and the form of half-discrete. Bathbold.T. and Laith. E. A. gave a new Hilbert’s inequalities of three variables in the three forms, discrete, integral, and half discrete form [14, 15], in [15] they introduced the Discrete form of Hilbert inequality of three variables as follows:

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \sum_{r=1}^{\infty} \frac{a_{m,n} b_r}{(m+n+r)^\lambda} < C \left(\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} (m+n)^{2p-\lambda-p\xi-2} a_{m,n}^p \right)^{\frac{1}{p}} \left(\sum_{r=1}^{\infty} r^{q+q\xi-\lambda-1} b_r^q \right)^{\frac{1}{q}} \tag{2}$$

where the constant $C = B\left(\frac{\lambda}{p} - \xi, \frac{\lambda}{q} + \xi\right)$ is the best constant, and $a_{m,n}$ is a double sequence with non-negative terms and b_r is a sequence with non-negative terms. Also, in 2022, Nizar Kh. Al-Oushoush gave a new Hilbert’s inequality of three variables in Discrete form [12] as follows:

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \sum_{r=1}^{\infty} \frac{a_{m,n} b_r}{\left(\frac{1}{m} + \frac{1}{n} + \frac{1}{r}\right)^\lambda} \leq C \left(\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{(mn)^{\lambda p - \lambda - \zeta p} a_{m,n}^p}{(m+n)^{\lambda p - \lambda - \zeta p - \frac{2p}{q}}} \right)^{\frac{1}{p}} \left(\sum_{r=1}^{\infty} r^{q\lambda + q\zeta - \lambda + \frac{q}{p}} b_r^q \right)^{\frac{1}{q}} \tag{3}$$

where $C = B\left(\frac{\lambda}{p} + \zeta, \frac{\lambda}{q} - \zeta\right)$ is the best possible.

2. Preliminaries and Lemmas

To prove the main result in this work, we will use the following famous two functions:

$$\Gamma(\vartheta) = \int_0^{\infty} t^{\vartheta-1} e^{-t} dt, \quad \vartheta > 0, \tag{4}$$

$$B(\varrho, \tau) = \int_0^{\infty} \frac{t^{\varrho-1}}{(t+1)^{\varrho+\tau}} dt, \quad \varrho, \tau > 0. \tag{5}$$

Also, there is another formula for every one of the above functions that will be used in this research

$$\frac{1}{x^\vartheta} = \frac{1}{\Gamma(\vartheta)} \int_0^{\infty} t^{\vartheta-1} e^{-xt} dt \tag{6}$$

$$B(\varrho, \tau) = \frac{\Gamma(\varrho)\Gamma(\tau)}{\Gamma(\varrho + \tau)} \tag{7}$$

$$B(\varrho, \tau) = B(\tau, \varrho). \tag{8}$$

Also, the following inequality is needed through this work:

$$\cosh x \geq 1, \quad \forall x. \tag{9}$$

To prove the main results in this research, we give the following necessary lemmas:

Lemma 1. Let $r > 1$, $\frac{1}{r} + \frac{1}{s} = 1$, and $b_k > 0$, then for $t > 0$ and $0 \leq \eta < \frac{1}{r}$, we have

$$\sum_{k=1}^{\infty} e^{-[\sinh k]t} b_k \leq t^{\eta - \frac{1}{r}} \Gamma^{\frac{1}{r}}(1 - r\eta) \left(\sum_{k=1}^{\infty} (\sinh k)^{s\eta} e^{-[\sinh k]t} b_k^s \right)^{\frac{1}{s}}. \tag{10}$$

Proof: By using Hölder’s inequality, and the substitution $\varpi = \sinh z$, we obtain

$$\begin{aligned}
\sum_{k=1}^{\infty} e^{-[\sinh k]t} b_k &= \infty \sum_{k=1}^{\infty} \left((\sinh k)^{-\eta} e^{-\frac{[\sinh k]t}{r}} \right) \left((\sinh k)^{\eta} e^{-\frac{[\sinh k]t}{s}} b_k \right) \\
&\leq \left(\sum_{k=1}^{\infty} (\sinh k)^{-r\eta} e^{-[\sinh k]t} \right)^{\frac{1}{r}} \left(\sum_{k=1}^{\infty} (\sinh k)^{s\eta} e^{-[\sinh k]t} b_k^s \right)^{\frac{1}{s}} \\
&\leq \left(\int_0^{\infty} (\sinh z)^{-r\eta} e^{-[\sinh z]t} dz \right)^{\frac{1}{r}} \left(\sum_{k=1}^{\infty} (\sinh k)^{s\eta} e^{-[\sinh k]t} b_k^s \right)^{\frac{1}{s}} \\
&= \left(\int_0^{\infty} \varpi^{-r\eta} e^{-\varpi t} \frac{d\varpi}{\cosh \varpi} \right)^{\frac{1}{r}} \left(\sum_{k=1}^{\infty} (\sinh k)^{s\eta} e^{-[\sinh k]t} b_k^s \right)^{\frac{1}{s}} \\
&\leq \left(\int_0^{\infty} \varpi^{-r\eta} e^{-\varpi t} d\varpi \right)^{\frac{1}{r}} \left(\sum_{k=1}^{\infty} (\sinh k)^{s\eta} e^{-[\sinh k]t} b_k^s \right)^{\frac{1}{s}} \\
&= t^{\eta-\frac{1}{r}} \Gamma^{\frac{1}{r}}(1-\eta) \left(\sum_{k=1}^{\infty} (\sinh k)^{s\eta} e^{-[\sinh k]t} b_k^s \right)^{\frac{1}{s}}
\end{aligned}$$

Lemma 2. Let $r > 1$, $\frac{1}{r} + \frac{1}{s} = 1$, and $a_{i,j} > 0$, then for $t > 0$ and $0 < \gamma < \frac{2}{s}$, we have

$$\left(\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} a_{i,j} e^{-[\sinh i + \sinh j]t} \right)^r \leq t^{\gamma r - 2\frac{r}{s}} \Gamma^{\frac{r}{s}}(2 - \gamma s) \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} (\sinh i + \sinh j)^{\gamma r} e^{-[\sinh i + \sinh j]t} a_{i,j}^r \quad (11)$$

Proof: By applying Hölder's inequality. Use the substitutions $\sinh y = u \sinh x$ and $\sinh x = \frac{v}{1+u}$, we have

$$\begin{aligned}
\left(\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} a_{i,j} e^{-[\sinh i + \sinh j]t} \right)^r &= \left(\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \left\{ (\sinh i + \sinh j)^{-\gamma} e^{-\frac{[\sinh i + \sinh j]t}{s}} \right\} \left\{ (\sinh i + \sinh j)^{\gamma} e^{-\frac{[\sinh i + \sinh j]t}{r}} a_{i,j} \right\} \right)^r \\
&\leq \left(\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} (\sinh i + \sinh j)^{-\gamma s} e^{-[\sinh i + \sinh j]t} \right)^{\frac{r}{s}} \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} (\sinh i + \sinh j)^{\gamma r} e^{-[\sinh i + \sinh j]t} a_{i,j}^r \\
&\leq \left(\iint_{0,0}^{\infty} (\sinh x + \sinh y)^{-\gamma s} e^{-[\sinh x + \sinh y]t} dx dy \right)^{\frac{r}{s}} \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} (\sinh i + \sinh j)^{\gamma r} e^{-[\sinh i + \sinh j]t} a_{i,j}^r \\
&= \left(\iint_{0,0}^{\infty} \frac{e^{-\sinh x[1+u]t}}{(\sinh x)^{\gamma s} [1+u]^{\gamma s}} \left(\frac{dv}{(1+u) \cosh x} \right) \left(\frac{\sinh x du}{\cosh y} \right) \right)^{\frac{r}{s}} \\
&\quad \times \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} (\sinh i + \sinh j)^{\gamma r} e^{-[\sinh i + \sinh j]t} a_{i,j}^r \\
&\leq \left(\iint_{0,0}^{\infty} \frac{e^{-\sinh x[1+u]t}}{(\sinh x)^{\gamma s-1} [1+u]^{\gamma s+1}} dv du \right)^{\frac{r}{s}} \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} (\sinh i + \sinh j)^{\gamma r} e^{-[\sinh i + \sinh j]t} a_{i,j}^r \\
&= \left(\iint_{0,0}^{\infty} \frac{e^{-vt}}{\left(\frac{v}{1+u}\right)^{\gamma s-1} [1+u]^{\gamma s+1}} dv du \right)^{\frac{r}{s}} \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} (\sinh i + \sinh j)^{\gamma r} e^{-[\sinh i + \sinh j]t} a_{i,j}^r
\end{aligned}$$

$$\begin{aligned}
 &= \left(\int_0^\infty \frac{1}{(1+u)^2} du \int_0^\infty v^{1-\gamma s} e^{-vt} dv \right)^{\frac{r}{s}} \sum_{i=1}^\infty \sum_{j=1}^\infty (\sinh i + \sinh j)^{\gamma r} e^{-[\sinh i + \sinh j]t} \alpha_{i,j}^r \\
 &= t^{\gamma r - 2\frac{r}{s}} \Gamma^{\frac{r}{s}}(2 - \gamma s) \sum_{i=1}^\infty \sum_{j=1}^\infty (\sinh i + \sinh j)^{\gamma r} e^{-[\sinh i + \sinh j]t} \alpha_{i,j}^r
 \end{aligned}$$

Main Result

Theorem 1. Let $r > 1$, $\frac{1}{r} + \frac{1}{s} = 1$, $0 < \lambda < \min\{r, s\}$, $-\frac{\lambda}{r} < \delta < \frac{\lambda}{s}$, suppose that $\alpha_{i,j}$ is double sequence with non-negative terms, and b_k is sequence with non-negative terms.

If $\sum_{i=1}^\infty \sum_{j=1}^\infty (\sinh i + \sinh j)^{-\lambda - r\delta + 2\frac{r}{s}} \alpha_{i,j} < \infty$ and $\sum_{k=1}^\infty (\sinh k)^{-\lambda + s\delta + \frac{s}{r}} b_k < \infty$, then

$$\sum_{i=1}^\infty \sum_{j=1}^\infty \sum_{k=1}^\infty \frac{\alpha_{i,j} b_k}{(\sinh i + \sinh j + \sinh k)^\lambda} \leq C \left(\sum_{i=1}^\infty \sum_{j=1}^\infty (\sinh i + \sinh j)^{-\lambda - r\delta + 2\frac{r}{s}} \alpha_{i,j}^r \right)^{\frac{1}{r}} \times \left(\sum_{k=1}^\infty (\sinh k)^{-\lambda + s\delta + \frac{s}{r}} b_k^s \right)^{\frac{1}{s}} \tag{12}$$

where $C = B\left(\frac{\lambda}{r} + \delta, \frac{\lambda}{s} - \delta\right)$ is the best possible.

Proof: Let

$$\begin{aligned}
 I &= \sum_{i=1}^\infty \sum_{j=1}^\infty \sum_{k=1}^\infty \frac{\alpha_{i,j} b_k}{(\sinh i + \sinh j + \sinh k)^\lambda} = \left(\frac{1}{\Gamma(\lambda)} \sum_{i=1}^\infty \sum_{j=1}^\infty \sum_{k=1}^\infty \alpha_{i,j} b_k \int_0^\infty t^{\lambda-1} e^{-[\sinh i + \sinh j + \sinh k]t} dt \right) \\
 &= \frac{1}{\Gamma(\lambda)} \int_0^\infty \left(t^{\frac{\lambda-1}{r} + \delta} \sum_{i=1}^\infty \sum_{j=1}^\infty \alpha_{i,j} e^{-[\sinh i + \sinh j]t} \right) \left(t^{\frac{\lambda-1}{s} - \delta} \sum_{k=1}^\infty e^{-[\sinh k]t} b_k \right) dt \\
 &\leq \frac{1}{\Gamma(\lambda)} \left(\int_0^\infty t^{\lambda-1+r\delta} \left(\sum_{i=1}^\infty \sum_{j=1}^\infty \alpha_{i,j} e^{-[\sinh i + \sinh j]t} \right)^r dt \right)^{\frac{1}{r}} \times \left(\int_0^\infty t^{\lambda-1-s\delta} \left(\sum_{k=1}^\infty e^{-[\sinh k]t} b_k \right)^s dt \right)^{\frac{1}{s}} \tag{13}
 \end{aligned}$$

Putting the inequalities (10), (11) in (13) we get:

$$\begin{aligned}
 I &\leq \frac{1}{\Gamma(\lambda)} \left(\int_0^\infty t^{\lambda-1+r\delta} t^{\gamma r - 2\frac{r}{s}} \Gamma^{\frac{r}{s}}(2 - \gamma s) \sum_{i=1}^\infty \sum_{j=1}^\infty (\sinh i + \sinh j)^{\gamma r} e^{-[\sinh i + \sinh j]t} \alpha_{i,j}^r dt \right)^{\frac{1}{r}} \\
 &\times \left(\int_0^\infty t^{\lambda-1-s\delta} \left(t^{\eta - \frac{1}{r}} \Gamma^{\frac{1}{r}}(1 - r\eta) \left(\sum_{k=1}^\infty (\sinh k)^{s\eta} e^{-[\sinh k]t} b_k^s \right)^{\frac{1}{s}} \right)^s dt \right)^{\frac{1}{s}} \\
 &= \frac{\Gamma^{\frac{1}{s}}(2 - \gamma s) \Gamma^{\frac{1}{r}}(1 - r\eta)}{\Gamma(\lambda)} \left(\sum_{i=1}^\infty \sum_{j=1}^\infty (\sinh i + \sinh j)^{\gamma r} \alpha_{i,j}^r \int_0^\infty t^{\lambda-1+r\delta + \gamma r - 2\frac{r}{s}} e^{-([\sinh i + \sinh j]t)} dt \right)^{\frac{1}{r}} \\
 &\times \left(\sum_{k=1}^\infty (\sinh k)^{s\eta} b_k^s \int_0^\infty t^{\lambda-1-s\delta + s\eta - \frac{s}{r}} e^{-[\sinh k]t} dt \right)^{\frac{1}{s}} \\
 &= \frac{\Gamma^{\frac{1}{s}}(2 - \gamma s) \Gamma^{\frac{1}{r}}(1 - r\eta)}{\Gamma(\lambda)} \left(\Gamma \left(\lambda + r\delta + \gamma r - 2\frac{r}{s} \right) \sum_{i=1}^\infty \sum_{j=1}^\infty (\sinh i + \sinh j)^{-\lambda - r\delta + 2\frac{r}{s}} \alpha_{i,j}^r \right)^{\frac{1}{r}} \\
 &\times \left(\Gamma \left(\lambda - s\delta + s\eta - \frac{s}{r} \right) \sum_{k=1}^\infty (\sinh k)^{-\lambda + s\delta + \frac{s}{r}} b_k^s \right)^{\frac{1}{s}} = C_{\psi, \phi} \left(\sum_{i=1}^\infty \sum_{j=1}^\infty (\sinh i + \sinh j)^{-\lambda - r\delta + 2\frac{r}{s}} \alpha_{i,j}^r \right)^{\frac{1}{r}} \left(\sum_{k=1}^\infty (\sinh k)^{-\lambda + s\delta + \frac{s}{r}} b_k^s \right)^{\frac{1}{s}}
 \end{aligned}$$

where $C_{\psi,\varphi} = \frac{\Gamma^s(2-\gamma s)\Gamma^{\frac{1}{r}}(1-\eta)\Gamma^{\frac{1}{r}}(\lambda+r\delta+\gamma r-2\frac{r}{s})\Gamma^s(\lambda-s\delta+s\eta-\frac{s}{r})}{\Gamma(\lambda)}$.

Set $\psi = \frac{2-\lambda-\delta r+\frac{2r}{s}}{rs}$ and $\varphi = \frac{1-\lambda+\delta s+\frac{s}{r}}{rs}$, we get inequality (10) with constant $C_{\frac{2-\lambda-\delta r+\frac{2r}{s}}{rs}, \frac{1-\lambda+\delta s+\frac{s}{r}}{rs}} = C_{\psi,\varphi} = C$.

Next, we want to prove that the constant C in (12) is the best possible. Define two sequences as follows: $\tilde{a}_{i,j} = 0$, for $i = j = 1$, $\tilde{a}_{i,j} = (\sinh i + \sinh j)^{\frac{\lambda+r\delta-2\frac{r}{s}-\epsilon-2}{r}} (\cosh i \cosh j)^{\frac{1}{r}}$ for $i, j \geq 2$, $\tilde{b}_k = 0$, for $k = 1$ and $\tilde{b}_k = (\sinh k)^{\frac{\lambda-s\delta-\frac{s}{r}-\epsilon-1}{s}}$ for $k \geq 2$, use the same substitutions as in Lemma 1 and Lemma 2. Suppose that C is not the best possible, then $\exists Q$, where $0 < Q < C$, noting that $\frac{\cosh i \cosh j}{(\sinh i + \sinh j)^{\epsilon+2}} < 1$, for $i, j \geq 1$ such that

$$\begin{aligned}
 I &\leq Q \left(\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} (\sinh i + \sinh j)^{-\lambda-r\delta+2\frac{r}{s}} \tilde{a}_{i,j}^r \right)^{\frac{1}{r}} \left(\sum_{k=1}^{\infty} (\sinh k)^{-\lambda+s\delta+\frac{s}{r}} \tilde{b}_k^s \right)^{\frac{1}{s}} \\
 &= Q \left(\sum_{i=2}^{\infty} \sum_{j=2}^{\infty} (\sinh i + \sinh j)^{-\lambda-r\delta+2\frac{r}{s}} \left((\sinh i + \sinh j)^{\frac{\lambda+r\delta-2\frac{r}{s}-\epsilon-2}{r}} (\cosh i \cosh j)^{\frac{1}{r}} \right)^r \right)^{\frac{1}{r}} \\
 &\quad \times \left(\sum_{k=2}^{\infty} (\sinh k)^{-\lambda+s\delta+\frac{s}{r}} \left((\sinh k)^{\frac{\lambda-s\delta-\frac{s}{r}-\epsilon-1}{s}} \right)^s \right)^{\frac{1}{s}} = Q \left(\sum_{i=2}^{\infty} \sum_{j=2}^{\infty} \frac{\cosh i \cosh j}{(\sinh i + \sinh j)^{\epsilon+2}} \right)^{\frac{1}{r}} \left(\sum_{k=2}^{\infty} (\sinh k)^{-\epsilon-1} \right)^{\frac{1}{s}} \\
 &= Q \left(\int_1^{\infty} \int_1^{\infty} (\sinh x + \sinh y)^{-\epsilon-2} \cosh x \cosh y dx dy \right)^{\frac{1}{r}} \left(\int_1^{\infty} (\sinh z)^{-\epsilon-1} dz \right)^{\frac{1}{s}} \\
 &< Q \left(\int_1^{\infty} \int_1^{\infty} (\sinh x)^{-\epsilon-2} \left(1 + \frac{\sinh y}{\sinh x} \right)^{-\epsilon-2} \cosh x \cosh y dx dy \right)^{\frac{1}{r}} \left(\int_1^{\infty} (\sinh z)^{-\epsilon-1} dz \right)^{\frac{1}{s}} \\
 &< Q \left(\int_{\sinh 1(1+u)}^{\infty} \int_{\frac{\sinh 1}{\sinh x}}^{\infty} \left(\frac{v}{1+u} \right)^{-\epsilon-2} (1+u)^{-\epsilon-2} \cosh x \cosh y \left(\frac{\sinh x du}{\cosh y} \right) \left(\frac{dv}{(1+u) \cosh x} \right) \right)^{\frac{1}{r}} \times \left(\int_{\sinh 1}^{\infty} (\varpi)^{-\epsilon-1} \frac{d\varpi}{\cosh z} \right)^{\frac{1}{s}} \\
 &< Q \left(\int_1^{\infty} \int_0^{\infty} (v)^{-\epsilon-1} (1+u)^{-2} dudv \right)^{\frac{1}{r}} \left(\int_1^{\infty} \varpi^{-\epsilon-1} d\varpi \right)^{\frac{1}{s}} = Q \left(\frac{1}{\epsilon} \right)^{\frac{1}{r}} \left(\frac{1}{\epsilon} \right)^{\frac{1}{s}} = \frac{Q}{\epsilon} \tag{14}
 \end{aligned}$$

Next, we estimat the left-hand side of (13), let $\chi = \frac{\sinh \omega}{(\sinh i + \sinh j)(2 \cosh i \cosh j)^{\frac{1}{s} - \delta - 1}}$, where ω is less than $x, y,$

and z , and suppose that $\frac{(2)^{\frac{\lambda-\epsilon}{s}-\delta-1} (\cosh i \cosh j)^{\frac{1}{r} + \frac{\lambda-\epsilon}{s}-\delta-1}}{\cosh \omega} > 1$, and $b = \frac{\sinh 2}{(\sinh i + \sinh j)(2 \cosh i \cosh j)^{\frac{1}{s} - \delta - 1}}$. (Noting that from

the conditions for λ and δ in the above theorem, we can obtain that $(\frac{\lambda-\epsilon}{s} - \delta - 1 < 0)$, and using the substitutions as in lemma 2 we get

$$\begin{aligned}
 I &= \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \sum_{k=1}^{\infty} \frac{\tilde{a}_{i,j} \tilde{b}_k}{(\sinh i + \sinh j + \sinh k)^\lambda} \\
 &= \sum_{i=2}^{\infty} \sum_{j=2}^{\infty} \sum_{k=2}^{\infty} \frac{(\sinh i + \sinh j)^{\frac{\lambda+r\delta-2\frac{r}{s}-\epsilon-2}{r}} (\cosh i \cosh j)^{\frac{1}{r}} (\sinh k)^{\frac{\lambda-s\delta-\frac{s}{r}-\epsilon-1}{s}}}{(\sinh i + \sinh j + \sinh k)^\lambda} \\
 &= \sum_{i=2}^{\infty} \sum_{j=2}^{\infty} \sum_{k=2}^{\infty} \frac{(\sinh i + \sinh j)^{\frac{\lambda+r\delta-2\frac{r}{s}-\epsilon-2}{r}} (\cosh i \cosh j)^{\frac{1}{r}} (\sinh k)^{\frac{\lambda-s\delta-\frac{s}{r}-\epsilon-1}{s}}}{(\sinh i + \sinh j)^\lambda \left(1 + \frac{\sinh k}{\sinh i + \sinh j}\right)^\lambda} \\
 &= \sum_{i=2}^{\infty} \sum_{j=2}^{\infty} \sum_{k=2}^{\infty} \frac{(\sinh i + \sinh j)^{\frac{\lambda+r\delta-2\frac{r}{s}-\epsilon-2}{r}-\lambda} (\cosh i \cosh j)^{\frac{1}{r}} (\sinh k)^{\frac{\lambda-\epsilon}{s}-\delta-1}}{\left(1 + \frac{\sinh k}{\sinh i + \sinh j}\right)^\lambda} \\
 &= \sum_{i=2}^{\infty} \sum_{j=2}^{\infty} (\sinh i + \sinh j)^{\frac{\lambda+r\delta-2\frac{r}{s}-\epsilon-2}{r}-\lambda} (\cosh i \cosh j)^{\frac{1}{r}} \sum_{k=2}^{\infty} \frac{(\sinh k)^{\frac{\lambda-\epsilon}{s}-\delta-1}}{\left(1 + \frac{\sinh k}{\sinh i + \sinh j}\right)^\lambda} \\
 &\geq \sum_{i=2}^{\infty} \sum_{j=2}^{\infty} (\sinh i + \sinh j)^{\frac{\lambda+r\delta-2\frac{r}{s}-\epsilon-2}{r}-\lambda} (\cosh i \cosh j)^{\frac{1}{r}} \left(\int_2^{\infty} \frac{(\sinh \omega)^{\frac{\lambda-\epsilon}{s}-\delta-1} (\cosh r)^{\frac{1}{s}}}{\left(1 + \frac{\sinh \omega}{\sinh i + \sinh j}\right)^\lambda} d\omega \right) \\
 &= \sum_{i=2}^{\infty} \sum_{j=2}^{\infty} (\sinh i + \sinh j)^{\frac{\lambda+r\delta-2\frac{r}{s}-\epsilon-2}{r}-\lambda} (\cosh i \cosh j)^{\frac{1}{r}} \\
 &\quad \times \int_b^{\infty} \frac{\left[(2 \cosh i \cosh j)^{\frac{1}{s}} (\sinh i + \sinh j) \chi \right]^{\frac{\lambda-\epsilon}{s}-\delta-1}}{\left(1 + (2 \cosh i \cosh j)^{\frac{1}{s}} \chi\right)^\lambda} \left(\frac{(2 \cosh i \cosh j)}{\cosh \varpi (\sinh i + \sinh j)^{-1}} d\chi \right) \\
 &= 2 \sum_{l=2}^{\infty} \sum_{j=2}^{\infty} \frac{\cosh i \cosh j}{(\sinh i + \sinh j)^{\epsilon+2}} \int_b^{\infty} \frac{(\chi)^{\frac{\lambda-\epsilon}{s}-\delta-1}}{(1 + \chi)^\lambda} \left(\frac{(2)^{\frac{\lambda-\epsilon}{s}-\delta-1} (\cosh i \cosh j)^{\frac{1}{r} + \frac{\lambda-\epsilon}{s}-\delta-1}}{\cosh \varpi} d\chi \right) \\
 &\geq 2 \int_2^{\infty} \int_2^{\infty} \frac{\cosh x \cosh y}{(\sinh x + \sinh y)^{\epsilon+2}} \left(\int_b^{\infty} \frac{(\chi)^{\frac{\lambda-\epsilon}{s}-\delta-1}}{(1 + \chi)^\lambda} d\chi \right) dx dy \\
 &\geq 2 \int_2^{\infty} \int_2^{\infty} (\sinh x)^{-\epsilon-2} \left(1 + \frac{\sinh y}{\sinh x}\right)^{-\epsilon-2} (\cosh x \cosh y) dx dy \int_b^{\infty} \frac{(\chi)^{\frac{\lambda-\epsilon}{s}-\delta-1}}{(1 + \chi)^\lambda} d\chi \\
 &= 2 \int_{\frac{\sinh 2}{\sinh x}}^{\infty} \int_{\sinh 2(1+u)}^{\infty} \left(\frac{v}{1+u}\right)^{-\epsilon-2} (1+u)^{-\epsilon-2} \left(\frac{\cosh x \cosh y dv}{(1+u) \cosh x}\right) \left(\frac{\sinh x du}{\cosh y}\right) \int_b^{\infty} \frac{(\chi)^{\frac{\lambda-s\delta-\frac{s}{r}-\epsilon-1}{s}}}{(1 + \chi)^\lambda} d\chi \\
 &= 2 \int_{\frac{\sinh 2}{\sinh x}}^{\infty} \int_{\sinh 2(1+u)}^{\infty} \left(\frac{v}{1+u}\right)^{-\epsilon-1} (1+u)^{\epsilon-2} \left(\frac{dv du}{(1+u)}\right) \int_b^{\infty} \frac{(\chi)^{\frac{\lambda-s\delta-\frac{s}{r}-\epsilon-1}{s}}}{(1 + \chi)^\lambda} d\chi
 \end{aligned}$$

Since $\frac{\sinh 2}{\sinh x} \leq 1, \forall x \geq 2$, we obtain:

$$\begin{aligned}
 I &\geq 2 \left(\int_1^\infty (1+u)^{-2} \int_{\sinh 2(1+u)}^\infty v^{-\epsilon-1} dv \right) du \left(\int_0^\infty \frac{(\chi)^{\frac{\lambda-\epsilon}{s}-\delta-1}}{(1+\chi)^\lambda} d\chi - \int_0^b \frac{(\chi)^{\frac{\lambda-\epsilon}{s}-\delta-1}}{(1+\chi)^\lambda} d\chi \right) \\
 &= \frac{2}{\epsilon(\epsilon+1)2^{\epsilon+1}(\sinh 2)^\epsilon} \left(B\left(\frac{\lambda}{s} + \epsilon + \delta, \frac{\lambda}{r} - \epsilon - \delta\right) - \int_0^b (\chi)^{\frac{\lambda-\epsilon}{s}-\delta-1} d\chi \right) \\
 &= \frac{B\left(\frac{\lambda}{s} + \epsilon + \delta, \frac{\lambda}{r} - \epsilon - \delta\right)}{\epsilon(\epsilon+1)(2\sinh 2)^\epsilon} - O(1)
 \end{aligned} \tag{15}$$

when $\epsilon \rightarrow 0^+$ in (14) and (15), we obtain a contradiction. By this the proof of theorem is completed.

In the following theorem, the reverse form of the main inequality 1 will be introduced, a constant C in this theorem is also, the best.

Theorem 2. Let $0 < r < 1, \frac{1}{r} + \frac{1}{s} = 1, 0 < \lambda < \min\{r, s\}, -\frac{\lambda}{r} < \zeta < \frac{\lambda}{s}$, suppose that $a_{i,j}$ is a non-negative double sequence and b_k is a non-negative sequence. If $\sum_{i=1}^\infty \sum_{j=1}^\infty (\sinh i + \sinh j)^{-\lambda-r\delta+\frac{2r}{s}} a_{i,j} < \infty$ and $\sum_{k=1}^\infty (\sinh k)^{s\delta-\lambda+\frac{r}{s}} b_k^s < \infty$, then

$$\sum_{i=1}^\infty \sum_{j=1}^\infty \sum_{k=1}^\infty \frac{a_{i,j} b_k}{(\sinh i + \sinh j + \sinh k)^\lambda} \geq C \left(\sum_{i=1}^\infty \sum_{j=1}^\infty (\sinh i + \sinh j)^{-\lambda-r\delta+\frac{2r}{s}} a_{i,j} \right)^{\frac{1}{r}} \times \left(\sum_{k=1}^\infty (\sinh k)^{s\delta-\lambda+\frac{r}{s}} b_k^s \right)^{\frac{1}{s}} \tag{16}$$

where $C = B\left(\frac{\lambda}{r} + \delta, \frac{\lambda}{s} - \delta\right)$ is the best possible.

Proof: To prove this result, we will use the same procedures that are used in the above Theorem, here, we will use the reverse Hölder inequality, so, we will leave it.

3. Equivalent Forms

Theorem 3: Using the same conditions of Theorem 1, we have an equivalent form of (12) as follows:

$$\sum_{k=1}^\infty (\sinh k)^{(r-1)-r\delta-1} \left(\sum_{j=1}^\infty \sum_{k=1}^\infty \frac{a_{i,j}}{(\sinh i + \sinh j + \sinh k)^\lambda} \right)^r \leq C^r \sum_{i=1}^\infty \sum_{j=1}^\infty (\sinh i + \sinh j)^{-\lambda-r\delta+\frac{2r}{s}} a_{i,j} \tag{17}$$

and

$$\sum_{j=1}^\infty \sum_{j=1}^\infty (\sinh i + \sinh j)^{s\delta+\lambda(s-1)-2} \left(\sum_{k=1}^\infty \frac{b_k}{(\sinh i + \sinh j + \sinh k)^\lambda} \right)^s \leq C^s \sum_{k=1}^\infty (\sinh k)^{s\delta-\lambda+\frac{r}{s}} b_k^s \tag{18}$$

Both of (17) and (18) are equivalent to (12) and C^r and C^s are the best possible.

Proof: To prove (17), set

$$b_k = (\sinh k)^{(r-1)-r\delta-1} \left(\sum_{i=1}^\infty \sum_{j=1}^\infty \frac{a_{i,j}}{(\sinh i + \sinh j + \sinh k)^\lambda} \right)^{r-1}$$

By using (12), we obtain

$$\begin{aligned}
 & \sum_{k=1}^{\infty} (\sinh k)^{(r-1)-r\delta-1} \left(\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \frac{\alpha_{i,j}}{(\sinh i + \sinh j + \sinh k)^{\lambda}} \right)^r \\
 &= \sum_{k=1}^{\infty} r^{-\lambda-r\delta-1} \left(\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \frac{\alpha_{i,j}}{(\sinh i + \sinh j + \sinh k)^{\lambda}} \right)^{r-1} \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \frac{\alpha_{i,j}}{(\sinh i + \sinh j + \sinh k)^{\lambda}} \\
 &\leq \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \sum_{k=1}^{\infty} \frac{\alpha_{i,j} b_k}{(\sinh i + \sinh j + \sinh k)^{\lambda}} \leq C \left(\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} (\sinh i + \sinh j)^{-\lambda-r\delta+\frac{2r}{s}} \alpha_{i,j} \right)^{\frac{1}{r}} \left(\sum_{k=1}^{\infty} (\sinh k)^{s\delta-\lambda+\frac{r}{s}} b_k^s \right)^{\frac{1}{s}} \\
 &= C \left(\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} (\sinh i + \sinh j)^{-\lambda-r\delta+\frac{2r}{s}} \alpha_{i,j} \right)^{\frac{1}{r}} \times \left(\sum_{k=1}^{\infty} (\sinh k)^{(r-1)-r\delta-1} \left(\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \frac{\alpha_{i,j}}{(\sinh i + \sinh j + \sinh k)^{\lambda}} \right)^r \right)^{\frac{1}{s}} \tag{19}
 \end{aligned}$$

Multiply both sides of (19) by $\left(\sum_{k=1}^{\infty} (\sinh k)^{(r-1)-r\delta-1} \left(\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \frac{\alpha_{i,j}}{(\sinh i + \sinh j + \sinh k)^{\lambda}} \right)^r \right)^{-\frac{1}{s}}$, we get (17).

To prove (18), set $\alpha_{i,j} = (\sinh i + \sinh j)^{s\delta+\lambda(s-1)-2} \left(\sum_{k=1}^{\infty} \frac{b_k}{(\sinh i + \sinh j + \sinh k)^{\lambda}} \right)^{s-1}$, by using (12), we get

$$\begin{aligned}
 & \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} (\sinh i + \sinh j)^{s\delta+\lambda(s-1)-2} \left(\sum_{k=1}^{\infty} \frac{b_k}{(\sinh i + \sinh j + \sinh k)^{\lambda}} \right)^s \\
 &= \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} (\sinh i + \sinh j)^{s\delta+\lambda(s-1)-2} \left(\sum_{k=1}^{\infty} \frac{b_k}{(\sinh i + \sinh j + \sinh k)^{\lambda}} \right)^{s-1} \times \sum_{k=1}^{\infty} \frac{b_k}{(\sinh i + \sinh j + \sinh k)^{\lambda}} \\
 &= \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \sum_{k=1}^{\infty} \frac{\alpha_{i,j} b_k}{(\sinh i + \sinh j + \sinh k)^{\lambda}} \leq C \left(\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} (\sinh i + \sinh j)^{-\lambda-r\delta+\frac{2r}{s}} \alpha_{i,j} \right)^{\frac{1}{r}} \left(\sum_{k=1}^{\infty} (\sinh k)^{s\delta-\lambda+\frac{r}{s}} b_k^s \right)^{\frac{1}{s}} \\
 &= C \left(\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} (\sinh i + \sinh j)^{s\delta+\lambda(s-1)-2} \left(\sum_{k=1}^{\infty} \frac{b_k}{(\sinh i + \sinh j + \sinh k)^{\lambda}} \right)^s \right)^{\frac{1}{r}} \times \left(\sum_{k=1}^{\infty} (\sinh k)^{s\delta-\lambda+\frac{r}{s}} b_k^s \right)^{\frac{1}{s}}. \tag{20}
 \end{aligned}$$

By multiply both sides of (20) by $\left((\sinh i + \sinh j)^{s\delta+\lambda(s-1)-2} \left(\sum_{k=1}^{\infty} \frac{b_k}{(\sinh i + \sinh j + \sinh k)^{\lambda}} \right)^s \right)^{-\frac{1}{r}}$ we get (18).

Also, we can get (12) from (17) or (12) from (18) as follows (using Hölder inequality):

$$\begin{aligned}
 & \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \sum_{k=1}^{\infty} \frac{\alpha_{i,j} b_k}{(\sinh i + \sinh j + \sinh k)^{\lambda}} = \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \left((\sinh i + \sinh j)^{-\frac{s\delta+\lambda(s-1)-2}{s}} \alpha_{i,j} \right) \\
 & \quad \times \left((\sinh i + \sinh j)^{\frac{s\delta+\lambda(s-1)-2}{s}} \sum_{k=1}^{\infty} \frac{b_k}{(\sinh i + \sinh j + \sinh k)^{\lambda}} \right) \\
 & \leq \left(\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \left((\sinh i + \sinh j)^{-\lambda-r\delta+\frac{2r}{s}} \alpha_{i,j} \right)^{\frac{1}{r}} \right) \\
 & \quad \times \left((\sinh i + \sinh j)^{s\delta+\lambda(s-1)-2} \left(\sum_{k=1}^{\infty} \frac{b_k}{(\sinh i + \sinh j + \sinh k)^{\lambda}} \right)^s \right)^{\frac{1}{s}} \\
 & \leq C \left(\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \left((\sinh i + \sinh j)^{-\lambda-r\delta+\frac{2r}{s}} \alpha_{i,j} \right)^{\frac{1}{r}} \right) \left(\sum_{k=1}^{\infty} (\sinh k)^{s\delta-\lambda+\frac{r}{s}} b_k^s \right)^{\frac{1}{s}}
 \end{aligned}$$

thus, we get the equivalence relation between (18) and (12).

Theorem 4: Applying the same conditions of Theorem 2, we have:

$$\sum_{k=1}^{\infty} (\sinh k)^{(r-1)-r\delta-1} \left(\sum_{k=1}^{\infty} \frac{b_k}{(\sinh i + \sinh j + \sinh k)^\lambda} \right)^s \geq C^r \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \left((\sinh i + \sinh j)^{-\lambda-r\delta+\frac{2r}{s}} \right) a_{i,j}, \quad (21)$$

and

$$\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} (\sinh i + \sinh j)^{s\delta+\lambda(s-1)-2} \left(\sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \frac{a_{i,j}}{(\sinh i + \sinh j + \sinh k)^\lambda} \right)^r \geq C^{rs} \sum_{k=1}^{\infty} (\sinh k)^{s\delta-\lambda+\frac{r}{s}} b_k^s. \quad (22)$$

Both (21) and (22) are equivalent to (16), and the constants are the best possible.

Proof: Since the proofs of (21) and (22) are the same as the proofs of (17) and (18), so we leave it.

Availability of data and material: The data which was use in this study, you can find it in the references that listed at the end of the paper, some of them were identified in the introduction.

Competing Interests: The authors declare that they have no competing interests.

Funding: No funding was used in this study.

Authors' Contributions: We read and approved the final manuscript.

References

- [1] A. Kufner, L. Maligranda, L.E. Persson, The Hardy inequality: About its history and some related results, *Vydavatelsk servis*, Pilsen, 2007.
- [2] A. Kufner, L. Maligranda, L.E. Persson, The prehistory of the Hardy inequality, *Amer. Math. Monthly*, **113** (2006) 715–732.
- [3] Al-Oushoush Kh.Nizar, L.E. Azar, Ahmad H.A. Bataineh, A Sharper Form of Half-Discrete Hilbert Inequality Related to Hardy Inequality, *Filomat*, **32(19)** (2018), 6733–6740.
- [4] B. Yang, The norm of operator and Hilbert-Type Inequalities, science press, Beijing, China (2009).
- [5] B. Yang, T. M. Rassias, On the way of weight coefficients and research for the Hilbert-type inequalities, *Math. Inequal. Appl.* **6** (2003), 625–658.
- [6] G. H. Hardy, J.E. Littlewood, and G. Polya, Inequalities, Cambridge Univ. Press, London, (1952).
- [7] L.E.Azar, Tow new forms of Hilbert integral inequality, *Math. Inequal. Appl.* **17** (2014).
- [8] M. Krnic, G. Mingzhe, J. Pecaric, G. Xuemei, On the best constant in Hilbert's inequality, *Math.Inequal.Appl.* **8(2)** (2005), 317–329.
- [9] M. Krnic, J. Pecaric, Extension of Hilbert's inequality, *J. Math. Anal. Appl.* **324** (2006), 150–160.
- [10] M. Krnic, J. Pecaric, General Hilbert's and Hardy's inequalities, *Math. Inequal. Appl.* **8** (2005), 29–52.
- [11] M. Krnic, A refined discrete Hilbert inequality via the Hermite-Hadamard inequality, *Comput. Math. Appl.* **63** (2012), 1587–1596.
- [12] Nizar Kh. Al-Oushoush, New Discrete Hilbert Inequality For Three Variables, *JMA*, **13(3)** (2022), pp 56–67.
- [13] Ricai Luo, and Bicheng Yang, Parameterized discrete Hilbert-type inequalities with intermediate variable, *Journal of Inequalities and Applications*, **142** (2019).
- [14] Ts. Batbold, L.E.Azar, A new form of Hilbert Integral inequality, *JMI*, **12(2)** (2018), 379–390.
- [15] Ts. Batbold, L.E.Azar, Discrete analogues of Hilbert integral inequalities for three variables, *Journal of Inequalities and Special function*, **9** (2018), 66–76.